ACADEMIC Algebra 1

Chapter 9 Review (circle final answer)

- Key

Date Period

Name each polynomial by degree (1st word) and number of terms (2nd word).

1y —10:0

| linear monomial \

3) 34750

\T]uadratic binomial

§) 2

l constant monomial l

Simplify each sum.
7 (37 - x> -+ (- 3~ 2x%)
i ~3x°

—
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Uncar binomial

4) 8x +5:9

] cubic binomial

6) 4 — 827 9x
quadratic Irinomiaﬂ

8) (3x*~#* —3%°) + (dx* - ~'6)
\ i B o =i

Simplify each difference. Step 1 - rewrite as an adition problem.

-

9) (—6x2 —x + 6x) + (8)&'3 -6+ 6x2)
—[91:! L‘-'_' N ?

| —=9x3 -12x* +(x + G

Factor. Remember to mentally multiply to check.
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13) x%—10x +25 —‘-\.(x —-s)c X —g) l
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gty
J gx -9x 2|

12) x> +x-90 . 30

-otiT] 5%

14) x1-81 =
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16) x> —17x+70 — "

‘T\ ~7)(x - 10) \




Factor each completely. Remember:\ Step 1 in factoring is to look for a GCF!!] L 32
2= e

i | .
17) 6x* —24x +24 = (,(xz-qx—lf’Y@ 18) —4x? —16x+128 = =4 ( x ZpYy _3;DQ

[60c-3) Gxay) [ ) o~

19) 5x2-80 = S (X -1¢) = 20) 4x” —4x =|Hx CX—I)\
rﬁ(.x—4)(.r+4) &) '

21) 9x% +21x—18 = =3 (3x T4 7y 6)® 22) 4x*+6x+4 = =2 C;x2-+3x+z>_

!1[1\—7 \-H){.(/ Ql)h—’ jy

Solve each equation by factoring. Remember to use your calculator to check in the original
equation!

23) x* - 7x=0 24) x> —10x+25=0
x{ X-P=0 (x—%fx—s) =0
s X

Xz
e (x-F &=
i | ¢, 0=0V ¢: o=0/"
®
o il ]Mm:0\> o

25) Sx* +15x — 52 =2 AxEEHREC 26) 4x> —105=-5_

: +2 42 48 >
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. 2_100=0
Syl +1SX ~S0 =0 @ Frcwe X

€ s =
5 Factoa 5% <8&) (x4€) =0
S(X¥S)(X)70 & -
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27) x> —9x+20=0

(x —4) (x-s) =0

X-4>50 X-S=0
L o=04 C:0=0"
O

29) 5x° —35x” + 80x = 20%
20X

— 20X -
—_—__.______-—!—_'_-—'_‘_—-—-.
Sx>—-35x% +box =0

5x (x*-7x +12) =0
SXx (X-3)(x-4) =0

5X=0 X-3=0
& =9)
C:o0=0/ C:Lo=(0/

Solve each equation by factoring. Check in the original equation!
o

30) 2x° + 6 =—‘r~§l
+7Xx X VG

32) 5x° + 15x% — 45x =
""S‘X S

gx'—‘v-r—ISX“"-—sgd)( =0
o5x (xZ+ 3x -0) =0
S5A (X+s)(x-2) =0

SX=0 X+S5=0

C‘: O:O./ C,!—Qs="25/

X-3=0
=2

28) 4x> —28x+40=0

4 (x¥=7x +10) =0
4(x-2)(x-9=0

X—=2 =o X-S=0
£ g=0/ ¢ 0=0"
X -4=Q
C: 80=§0/

o

31) 5x2—3=—ﬁ<u
42X+

LA M
Syt 4 #X —5 =0
(sx-2)(x+ | )=0

5‘){'3:0 X+l =0
£:-1.3=-1a/ ¢ 2=2v
C:10=]o/



Find each product. Remember to write answers in standard form (high to low exponents with

the cons%]ast.)
e

33Y 2x3| 7x% — 6x - 1)

fq)(s—-lz.x"l' _-Zx?J
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35) (4x — 8)(8x2 + 6x + 3)

"

33 %2 4oty HILN +
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)7%( Z +4§x +c.,t+]_
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38) (2x & (4x + 3)

XL by —IbX — 2=
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40) (7x +4)(75 - 4) o

“‘QXLM"”“
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GrE-ISx-ISx+35 =
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